Ic.shrink

Density

01 02 03 04 05

0.0

20 30 40

10

Cluster 2

15 genes

[e]
0 0 0 0
[e]

p.Local=1 o————0

[ I I 1
— N ™ <

Delta Ic.shrink 15 genes

p=0

Density

! ! ! ! !
0.50 0.55 0.60 0.65 0.70

N =100 Bandwidth = 0.002663

Ic.shrink

01 02 03 04 05

0.0

30

20

10

Cluster 3
7 genes
0 0 0 0
0\
(o]
.LOC9\21/
p > \o
[ | | 1

Delta Ic.shrink 7 genes

A

Density

T T T T T
0.2 0.4 0.6 0.8 1.0

N =100 Bandwidth = 0.003524

Ic.shrink

01 02 03 04 05

0.0

40 60 80

20

Cluster 3

11 genes
o
Q 0 0 0
p.Local=1 ° °
[ I I 1

Delta Ic.shrink 11 genes

p=0

T
0.1

T T T T T T
02 03 04 05 06 07

N =100 Bandwidth = 0.001903




